
Numerical integration using Simpson’s Rule 
 
A curve y=f(x) can be integrated using 
Simpson’s Rule, as follows: 
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Where n is the number of equal steps (not 
points). Note that n must be an even number. 
 
 
 
 
Example: Blasius boundary layer calculations 
(displacement and momentum thicknesses). 
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Evaluate the integrals using Simpson’s Rule. 
 
In this case, a=0, b=5, and use the ten steps from 0 < η < 5.0. These are evenly spaced with 
∆η=0.5 and n=10, yielding: 
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For the displacement thickness, δ*, y=f’, listed in Table 9.1, above. 
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The momentum thickness, θ, requires the above value, and another integral, where y=(f’)2, 
which is also listed in the table above. 
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Errors in the third decimal place can be attributed to rounding off in the calculations. 


